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50,

cos(a’S) cos(a'd) cos(a’2) cos(a)=1/16
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T 27 47 = lasr 32x
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Wea have,

sinem+sthf=a & cosa+c0s =58 ... GH

Sguaring and adding, we get
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=
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We have,
sine+sinfi=3 & cosa+cosfi=50

Squaring and adding, we get
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i z
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Thus, cos fx - )= _—
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We have,
sec{ﬁ'+|x] + se0C [5‘ — ac] = 2 sec g,
1 1 2
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We have,

1 . ;
cos e +oos J= 3 and sina+sin g = A

Squaring and adding, we get

[m32m+m32ﬁ+2m3¢c msﬁ}+(5a’n2m+sa’n2ﬁ+23m¢csmﬁ)=%+%
5 : 25
= 1+1+2cosw cos 4+ sina sin §) = ——
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144 144
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2 2
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We have,

; 4 5 3 . 12
S.'ﬂ:x=§ & o5 f = — ::?CC'SI:E:E& S =—

cos fo - 8) = cosacos 8+ Sine. sin g
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]
.311515:&
1+tan* &

2tan &
SR
1+tan” &

substitute these values i the given equation, 1t reduces to
a(l— tan® &)+b( 2 tan F=c(l + tan* &)
(cta)tan® G+ 2btanS+c—a=0

Az @ and S arve roots

2b
s of the roots, tan a+tan §=——
cta
¢—a
Product of roots, tan o« tm 5=
cta
t 2 X 2b b
tanfa + 5) = A ttan 3 = ==
l1-tan & tanf5 c+a—-c+a a
Q45

cosateos=0=sma+sm S

squaring on both sides gives

cos’a+cos’ f+2cosacos S=sin’ @+ an’ S+ 2sinasn 8
Biing square teris on one side, we get

cos 2ateoslf=—2 —anasmn S+cosacos §i=—2cos i a+ 5|



Ex 9.2

Q1

L.F.5,
a0l - sin {CIG' + E{?}
= §in 3008 28 + 0539 5028

& :?an.‘?— L.-".l'na.@) :‘I _2sinZg| - :4.".“‘.:.-?35 =R .-?') DEnEms R,
= . it s g iy ) E 2 .
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= ! " : 2 el
-2sind 10sia2 1 2ar~a) Esmé‘“l sin® 9} E-s.lné'{l sm‘é}]
oy .

= 3sin@-105/7 8 + BT84+ 8sind- L0sin @+ 88in~8-Gsind +0sin° 8

=hsnd-PUsint @+ 0sn" 8 = KHS
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Conaider the LI1L.S of the gven eguation
4 {-:o:-sllil’ T ED“} - 3{-:05‘ L3 smED‘}

Siqzz 50 207 = cos 60° - :
k=3
o . A
gnd i 00° = 223 30° = —

=

— 3 =cos 3 10
= SEnE0" - 45T 207 = 4T 100 - Sows 100
= afrsfur —an®ar] = afms 4 sinor)
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